HaltF 2025 F TR E —SBIURMBR AR

EERS 2 PRSI HFRME RN F353 FdH | BIRESS IRt SZaE | &iF
100085210007618 X* R 080400 IXEERIZF SRR =[H% 2ESE | IFEEHL ZEII! 582.40
100085210004846 7tk 080400 IEERIF SR E=k] 2EBHRE | FEEHIL TEIIK! 567.20
100085210000841 "1 080400 INEERIZE SRR =B £E5E | FEEHL FZELT 560.40
100085210003821 LIS 080400 ILEERIFE SRR =l eEHRE | FEEEHk ZELIH 551.40
100085210004637 5K S 080400 IXEERIF SRR =[%! 2ESE | IFEEFL ZELL 541.40
100085210000837 Fpv* 080400 INEERIF SR =[8%! 2EBHE | AL FEIIK! 532.60
100085210008410 7 080400 UEERIZ SRR =l £E5E | FEEHL T 531.60
100085210007111 BBy 080400 IUEERIF SRR £HH EHRE | EEEHL ZEIH 531.00
100085210009377 JEl N 080400 UEERIZE SRR =l £E5E | FEEHl T 526.40
100085210008850 X5 080400 INEERIF SRR =[8%! 2B&*%E | FEAEHL FEIIK! 524.40
100085210005615 XU*ZR 081100 ERRESTRE =l £E5E | FEEml FTETL ! 597.80
100085210006256 R 081100 EHRESTRE =R 2BH*%E | IFEEHL FEImIK! 597.20
100085210005968 SRR 081100 EHRIFS5TE 2[4 2BH*%E | IFEEHUL ZEIIX! 580.60
100085210006391 it 081100 EHRFEETRE =RH 2B&*E | IFEEHL FEImIK! 580.20
100085210003006 LR 081100 EHRIFS5TE e=k] 2EBH*%E | IFEEHUL ZEII! 578.40
100085210003200 Eerit 081100 EHRIFETIRE E=E] 2EFRE | FEEHL TEIK! 568.60
100085210005616 S 081100 ERMEETRE =HH £E5E | FEEHL FZET Y 565.60
100085210003465 e L] 081100 EHRIFETIRE E=E] 2EBHRE | FEEHL TEIIK! 564.80
100085210004360 2R 081100 EHRFE5IRE =[%! 2ESE | FEEFL ZEII! 563.80
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EERS e 3 BIRINEIALE BIRINE L ZTR 235X | FAAX | BREKE SR FamE | &F
100085210007492 ESi 081100 EHREESTE =[H% 2EHR%E | FFEEHL ZEII! 563.20
100085210000911 G 081100 EHRS5TE £8% 2E5%E | FEEHl FETRIHE 561.40
100085210000891 o 081100 BHRE 5 TR 284 2EFE | FFEEFHL FTETR 561.00
100085210009290 B 081100 Bk 5TE 284 2E5E | FEEHl FETRIHE 556.80
100085210009396 E=i 081100 EHREESTIRE =[% 2EBH%E | EEAEHL ZEII! 548.00
100085210006063 B 081100 RS 5TE 284 2EGE | FEEHl FERITKI 547.20
100085210009426 o= 081100 EHREESTRE =[% 2ESE | IEEEFL ZEIIHK! 542.40
100085210003211 XB*EE 081100 ERRESTIRE ES=k £ERE | EEEHWL FET LY 541.00
100085210008274 3 081100 EHREESTIRE =[%! 2EBH%E | EEAEHL ZEIIK! 540.60
100085210006340 5 081100 RS TE 284 2EGE | FEEHL FEIK) 536.40
100085210007790 p i 085406 TR 284 2EG% | FEEHL FTEWIK 590.40
100085210006512 o 085406 T 284 2EHE | FFEAEHhL FEMRI 587.20
100085210000968 = 085406 g ES= k] 2EB&*%E | IFEEHUL ZEII! 587.00
100085210010207 = 085406 HI TR =RH 2B&*E | IFEEHL FEmItX! 579.00
100085210009344 Fra 085406 E=HITRE e3=k] 2EBHR*%E | IFEEHUL ZEIIX! 573.60
100085210000950 2= 1 085406 I TRE £BH 2E5E | FEEHlL FETRIH 571.20
100085210000948 -7 085406 =HIRE ES=k] 2EBHR%E | EEEHL ZEII! 570.80
100085210005979 XU 085406 I TR 2B 2E5E | FEEHL FETRIHE 564.80
100085210007496 1 085406 EHIRE E3=k] 2ES%E | AL ZEII! 564.40
100085210003244 = 085406 TS 28 2E5E | FEEHl FEIIKI 561.40
100085210004646 TR 085406 E=HIRE =[%! 2EBH%E | EEEHL ZEmIK! 551.20
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EERS 24 BIREVE LIS BIRAE L ZER 235 | BRAHX | BREXE EIRitEI FaRkSR
100085210006144 IR 085406 EHTRE 2B 2EHE | FEEHL FETH 550.00
100085210000945 T8 085406 EHITRE £B% 2EHE | FEEHL FTETUH 548.40
100085210000991 PR 085406 EHTRE 2B 2EHE | FEEHL FETH 548.20
100085210007062 =B 085406 BHITRE £B% 2EHE | FEEHL FTETUH 547.40
100085210005392 KRR 085406 EHTRE 2B 2EHE | FFEEH FELII 547.20
100085210008546 =40 085406 EHITRE £H% 2EHE | FEEHL FTETT 546.00
100085210000992 F* 085406 EHTRE 2B 2E%E | FEEHL FTE 545.85
100085210010120 SK*3fE 085406 EHI TR 2HH 2BHE | FEAEHL FEIIK! 545.80
100085210000952 i 085406 EHTRE =] 2E%E | FEEFHL FTEII 543.40
100085210008088 gerr 085406 EHITRE 2B 2EHE | FEEFHL FTETTL 542.20
100085210005807 AR 085406 EHITRE 2B 2E%E | FEEHL FTEI 542.00
100085210008620 =448 085406 e M 2B 2EHE | IEEAEFHIL FTETTL 542.00
100085210000919 B3N 085406 EHITRE 2B 2EHE | EEAEHL FTEBTKI 539.80
100085210004851 G S 085406 EHITRE =L 2EHE | FEEAEFHIL FTETTL 537.40
100085210003577 = 085406 M 2B 2EHE | EEAEHL FTETI 535.80
100085210005223 2= 085406 BHITRE £B% LEHE | FEEHL FTETUH 535.40
100085210007507 EiE= 085406 EHTRE 2B 2EHE | FEEHL FTETH 534.60
100085210000970 BT 085406 EHITRE £B% 2EHE | FEEHL FTETH 533.80
100085210000990 & 085406 EHTRE 2B 2E%E | FEEFHL FELII 533.20
100085210007620 =R 085406 EHITRE £H% 2EHE | FEEFHL FTETUH 532.40
100085210000980 BR*{E 085406 EHTRE 2B 2E%E | FEEHL FTELI 532.00
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EERS 24 BIREVE LIS BIRAE L ZER 235 | BRAHX | BREXE EIRitEI FarkE | &F
100085210000969 EB*i 085406 EHTRE 2B 2EFE | FFEEHl FTELII 532.00
100085210005718 REME 085406 EHITRE £B% 2EHE | FEEHL FTETUH 531.60
100085210000987 C 085406 EHTRE 2B 2EHE | FFEEHl FTELII 530.60
100085210006292 F* 085406 BHITRE £B% 2EHE | FEEHL FTETUH 528.60
100085210007982 pURTE 085406 EHTRE 2B 2EHE | FFEEH FELII 527.20
100085210006394 ' 085406 EHITRE £H% 2EHE | FEEHL FTETT 526.60
100085210010289 e 085407 (URRINERTRE 2B 2E%E | FEEHL FTEII 595.80
100085210009192 BE* 085407 IEENERTRE E=L] £ESE | EEAEFL TETUTLY 566.00
100085210005016 H*fr 085407 INBMNERTAE el 2ERE | FEEHL FEIIt 562.40
100085210000860 %8 085407 WV £HB% 2EH%E | FEEFHL FTETT 557.20
100085210005439 B8 085407 WENE N 2B 2EHE | FEEHL FTET 556.20
100085210007489 X1 085407 WV 2B 2EHE | FEEAEFHIL FTETTL 553.80
100085210009572 =* 085407 ERERTIRE 2B 2EFE | A ZETTLY 553.80
100085210004359 2= 085407 (UBMNERTHE 2B 2EHE | FEEAEFHIL FTETTL 549.20
100085210008617 B 085407 (URRMNERTHE 2B 2EHE | EEAEHL FTETI 544.00
100085210000859 e 085407 WV £B%) LEHE | FEEHL FTETUH 542.60
100085210000862 T8 085407 IUBRER TR 2B 2EHE | FFEMHl FTELII 542.60
100085210004847 51 085407 WV £B% 2E%E | FEEHL FTETH 539.80
100085210000855 XU 085407 INBRNER TR 2B 2ERE | FEDHWL FEIK 537.20
100085210008085 = 085407 WV £H% LEHE | FEEFHL FTETUH 533.20
100085210004640 EHE 085407 (UBRER TR 2B 2E&E | FFEEH FTEII 530.40
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EERS e 3 BIRINEIALE BIRINE L ZTR 235X | FAAX | BREKE SR FamE | &F
100085210004848 K*I% 085407 INBRNER TR ES=k:] eEFSE | FEEEHL FZET Y 529.20
100085210000863 = 085407 e e 2B 2E5%E | FEEHl FETRIHE 522.00
100085210005275 e 085407 INBRNER TR =[%! 2EBHR%E | FEEHL ZEII! 520.00
100085210007256 Bkt 085407 e e 2B 2E5E | FEEHl FETRIHE 517.40
100085210000868 &5 085407 INBRMNER TR =[% 2EBH%E | EEAEHL ZEII! 514.20
100085210008747 E 085407 (BB TRE 28 2EGE | FEEHl FERI K 512.80
100085210008852 SK* 1% 085407 INBRMNERTAE =[% 2EBH%E | EEAEHL ZEIIHK! 511.60
100085210005559 i 085407 (BB RTRE 2£8% 2EGE | FEEHlL FERITKI 511.20
100085210000852 = 085407 IXEUFRTIE =[%! =EHR*F EEH | SEHEERES TR 410.60
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